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S 53] 30.0 3,652 1 = i = i i
2| & 5] 30.0 3,647 i = i = i i
3| & 5] 30.3 3,702 i i i3 i i3 i
4( B 2 30.4 3,748 i i i3 i i3 i
5| A/ i 30.8 3,652 i = i = i i
6| « 2 30.9 3,775 1 = i = i i
VARE:S 2 29.9 3,731 i &= Fiitd &= Fiiid it KBS (AKX - BER0A)
8| * 2 29.3 3,751 i i = i i3 i
9| = 5] 29.1 2,573 iic i = i i3 i
10| = 2 29.4 3,036 i i3 i i i3 i3
11| B i 29.8 3,033 i i3 i i i3 i3
12| A i 30.2 1,508 iic i = i i3 i
13| % i 30.3 2,726 i = iiid i3 Fiicd = KBS (AKX - BERNA)
14| x i 30.4 3,191 iic i i3 i i3 i
15| & i 30.6 3,072 iic i = i i3 i
16| i 30.3 3,505 i i i i i3 i3
17| = i 29.7 2,032 i i3 i i i = 14305 BRALDHFEHEIE
18| H L= i piiid iicd piiid Fiic3 =
19| B 5] i piiid iicd piiid Fiic3 =
20| ® [55] 27.9 1,745 i " i i i3 = 11:00%=®BHT E
21| x i 26.9 3,052 i i Fiicd &= Fiicd & K& (FIK - BERO)
22| * 53] 26.6 2,166 i i i i i3 ii:3
23| & 5] 26.4 2,406 i i3 i i i3 i3
24| * i 26.9 1,683 iiid piiid iicd piiid iicd piiid
25| H i 26.6 1,675 iiid piiid iicd piiid iicd piiid
26| B i 26.6 2,549 i i i i i i3
27| % i 26.4 2,633 it piiid iicd piiia Fiicd i KESH (FIK - BERO)
28| & i 26.3 2,148 i i i i i i3
29| * i 27.2 1,866 i i i i i i3
30| & 2 26.2 2,814 i i i i i3 i3




